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o FUT TG BT FF 57 I9T-79 § GRT I 32 9 797 35 &1

Please make sure that the printed pages in this question paper are 32 in number
and it contains 35 questions.

o Jo7-7¥ H T &y @ G RF 78 FS T T A F O FI-YRaw & FEI-g8 9T
el

The Code No. and Set on the right side of the question paper should be written by

the candidate on the front page of the answer-book.

o FYI FIT B TV VG @ FXT G Yee, FIT F HHIH T [ord

Before beginning to answer a question, its Serial Number must be written.

o FUT-YitaHE & = H @l §,/9 7 881

Don’t leave blank page/pages in your answer-book.
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o FTT-GRaw & RFT FF T A T& Al g sraeaEdgar & @ G fiar Faw T
#IC]

Except answer-book, no extra sheet will be given. Write to the point and do not

strike the written answer.

o TUETER U AT To FT-UH qT Haed [i@ W To F SHARFT FIT-YH G I FE A T
ford oife dmloaes o7t & I GT e FHIT F R T T
Candidates must write their Roll No. on the question paper. Except Roll No. do not
write anything on question paper and don't make any mark on answers of objective

type questions.

o YUY o7l % IV 37 @ §d 98 GhAlEd T o [ G97-v4 {7 T @& & Yher % ST 59
T § Fig 4 @ &hwre Tl A @
Before answering the questions, ensure that you have been supplied the correct and

complete question paper, no claim in this regard, will be entertained after

examination.

A R
(i) Fo7-0F & Z7T 35 797 &
(@) T geT SHvad &
(i) TE FIT-0F T @uE F e & ¢ gve-g, qve-§, @Ue-g, §US-7 GV G-
(iv) GE-9 ¥ SeTE (1-18) TEGITT J97 81 J9% H97 1 37% T &1
(v) @UE-F 7 GIT (19-25) SITg FTNT F97 &1 T9% F97 2 STl #T 81
(vi) GB-F 7 i (26-30) Tg FTOT Fo7 &1 F9% F97 3 ST F 81
(vii) GUE-F 7 & (31 732) HF TFTT HHN & 97 &/ FAF 97 4 SF & &1
(viii) GUE-F & 7 (33-35) & FTHT 797 &1 q9F F97 5 3H F 8
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(ix) 797 97 § &5 777 &7 @ 3 [acy 78 &1 7y que-g 7 § g97 §, @ve-g 7 q
g7l 8 gue-g § gt 997 (31 732) § 77 §Ue-F 7 it g9 7 onak® fwey Ry

7T 81 57 @ F9H 7 @ SYH BT §F & FIT FCA &1

(x) S7F TAE F AT T 8

General Instructions :
(i) There are 35 questions in all.
(i) All questions are compulsory.
(iii) This question paper is divided into five Sections : A, B, C, D and E.

(iv) Section-A consist of eighteen (1-18) objective type questions, each of

1 mark.

(v) Section-B consist of seven (19-25) very short answer type questions, each of

2 marks.

(vi)) Section-C consist of five (26-30) short answer type questions, each of

3 marks.

(vii) Section-D consist of two (31 & 32) case study type questions, each of

4 marks.

(viii) Section-E consist of three (33-35) long answer type questions, each of

5 marks.
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(ix) There is no overall choice. However an internal choice has been provided in
Section-B two questions, Section-C two questions, Section-D both questions

and Section-E all three questions. You have to attempt only one of the given

choices in such questions.

(x) Use of calculator is not permitted.

qug - I

SECTION-A

[ TS 9 ]

[ Objective Type Questions ]

=T SglamediT g9 % qEl [d4wey gy -

Select the correct option of the following multiple choice questions :

1. 0.01 M T fer@T &l o § 0.01 M MgCl, facia o1 fenies &l Sfaa : 1
(A) T ST T
(B) ST 2T
(C) N o B
(D) ¥R IO &R
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In comparison to a 0.01 M solution of glucose, the depression in the freezing

point of 0.01 M MgCL solution is :
(A) remains same

(B) about twice

(C) about three times

(D) about four times

2. BRI A + 2B — C % [, 3 = K[A] [B] &1 B & H&dl YA &1 T 71 [A] &I @igan

AN @M W, a7 RY® 9 & 99| 987 ¢ 1
(A) TEN @
(B) I &M
(C) =R IO &R

(D) ofEr Y& S

Rate law for the reaction A + 2B — C is found to be Rate = K[A] [B].
Concentration of reactant B is doubled keeping the concentration of A constant,

the value of rate constant will be :
(A) the same

(B) doubled

(C) quadroupled

(D) halved
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3. AHIGE @ G HF-dl AR Ty Bt § 7

(A) +2 (B) +3
(C) +4 (D) +5
Which of the following oxidation state is common for all lanthanoids ?
(A) +2 (B) +3

(€) +4 (D) +5

4. IRFEHS S THiTN AR SofceeEs AN O Uik 78 el § ¢

(A) |Ifegq BEZH TEHES

(B) fEd BRENIM
(C) I Hicgs™
(D) e STfopHS

The reagent which does not react with both acetone and benzaldehyde :
(A) NaHSOs

(B) Phenyl hydrazine

(C) Fehling solution

(D) Tollen's reagent
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5. &0 ReXi (Ku) %1 AW : 1

(A) TN Fg & Y FEdl ©

(B) TIHH S+ & @Y 9 &Il &
(C) R e 8

(D) Ued el & e gedl o

The value of Henry's constant Ki :

(A) Increases with increase in temperature

(B) Decreases with increase in temperature

(C) Remains constant

(D) First increases, then decreases

6. Fr=ifafad & & HF-a1 B-99e faeiie saR SR dafed frar s ahar & 7 1
(A) e B:
(B) e Be
(C) 4™ Be
(D) f9eI®¥ Biz
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Which of the following B-Group vitamin can be stored in our body ?
(A) Vitamin B:
(B) Vitamin B>
(C) Vitamin Be

(D) Vitamin B2

7. A T TF I AIESH o B GHA HE B 8, O 1
(A) Egg =0

(B) Ea > Eqm

(©) Eam > Eaq

(D) E&q = Eag

An electrochemical cell can behave like an electrolytic cell, when :
(A) Ecen=0

(B)  Ecenl > Eext

(C) Eext > Ecen

(D) Ecel = Eext
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8. 99 MUEd UHN, Egq o & SATHBRAT HTH o, O BIF-8l 19 M Bl & 7 1
(A) NH; B) N
(C) H (D) CoHs

The gas evolved when methyl amine reacts with nitrous acid is :

(A) NHs (B) N
C) H (D) CoHs
9. fpdl kT & Ea & TOMT ST Rl © ¢ 1

(A) o ReRi® # AW T RER 0 ) AT $ &

(B) o Rei® H 9M & ST A9 TR &1d H °

(C) THUG &l @ §
(D) IB® % T9@ 9

Activation energy of a chemical reaction can be determined by :
(A) determining the rate constant at standard temperature
(B) determining the rate constant at two temperatures

(C) determining probability of collision

(D) wusing catalyst
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10. 1 & @ &9 S erfufhar weffa & #a § ? 1

CHO
CH3

(A)

:

(B) CHO

o

(C) HCHO

(D) CH3;CHO

Cannizaro's reaction is not given by :

o O
CH>
0 (Do
(C) HCHO
(D) CHzCHO
11. & &0 q1&| § KMnO, WeREW STEieEs # fhad aRakid &< & ? 1
(A) I B) IO~
(C) 103 (D) IO;

When alkaline KMnO, is treated with KI, iodide ion is oxidized to :
A I (B) IO
(€) 105 (D) 104
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12. fF=fofad & § 999 o1t orig & & °? 1

(A) STE Uhied

(B) @TgeRieRAI

(C) Tid

(D) m-FARIBT

Which of the following is most acidic ?
(A) Benzyl alcohol

(B) Cyclohexanol

(C) Phenol

(D) m-Chlorophenol

13. fheed &9 faue CFSE &T<%@® [CoClg|*™ & f@ 18,000 cm-! &, @ agwhad freeq
89 [CoCl,]*~ & fw 1 2w ? 1

(A) 18,000 cm™!
(B) 16,000 cm!
(C) 8,000 cm!

(D) 20,000 cm™!
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The CFSE for octahedral [CoClg]*™ is 18,000 cm-!. The CFSE for tetrahedral
[CoCl, >~ will be :

(A) 18,000 cm-!
(B) 16,000 cm-!
(C) 8,000 cm

(D) 20,000 cm-!

14. AERA () FRES B JuRART & eged, saie | ARHGRAT H offdl dor I & A
Tl &, ¥ AR B 1

(A) SoFRMTRN faaes erffshan
(B) FQFSIR feRmas stffehar

(C) TRl Sfcreemds saffsean
(D) SRR ANt SAfeTfsean

Toluene reacts with a halogen in the presence of iron (III) chloride giving ortho

and para halo compounds, the reaction is :
(A) Electrophillic elimination reaction

(B) Electrophillic substitution reaction

(C) Nucleophillic substitution reaction

(D) Nucleophillic addition reaction

1230/(Set : D)
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797 GG 15 F 18 3 fw @ #Y7T RU 70 & - ¥HGT [ A ] T BT [ R |, FF7 & T8HT
714 179 14 @ (A), (B), (C), (D) § & 797 %I §&l T g -

For Question Numbers 15 to 18 given below consists of two statements labelled as
Assertion [ A | and Reason [ R |. Read the statements and select the most appropriate

answer from the Codes (A), (B), (C), (D) :

15. e [A] : T9F Qo @8 & o Qfcsra oags! &l Faeish =1 TR & gedl @ ¢

RI> RBr> RCl> RF

SR [R] : TR TGS, TEhEd SIAES, OU UGhEd STAISRe & Fa9-ih, TN S|

i EEGIHET 4 AfE B Bl

s : 1

(A) [A] @ [R] @91 g § X [R], [A] & @& e B

(B) [A] @ [R] a1 O B, QAfhT [R], [A] & T& =ren &t 2

(C) [A] 94 %, qfd [R] T &I

(D) [A] & B, QAT [R] T &I
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Assertion [A] : The boiling point of alkyl halides decreases in the order

RI> RBr > RCl > RF for same alkyl group.

Reason [R]: The boiling point of alkyl halide having chloride, bromide and
iodides are higher than that of the hydrocarbon of comparable

molecular mass.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].

(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

16. AREHYA [A] : BHSERS Th TG 17 B
PR [R] : TO9 sp? THRT HET TCAT BNl 8|
FE : 1
(A) [A] @ [R] @i 9 € SR [R], [A] ® €& e B
(B) [A] @ [R] a9 O B, QAfhT [R], [A] & T& =ren &t 2
(C) [A] 7 B, Al [R] T 2

(D) [A] TQ &, QAfeT [R] T B
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Assertion [A] : Formaldehyde is a planar molecule.

Reason [R] : It contains sp? hybridized carbon atom.

Code :

(A) Both [A] and [R] are true and [R] is the correct explanation of [A].

(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

17. AHUE [A] : 519 NaCl & 91 & famn sin 2, @ f&"ie § o sfaqe 3@ o &l
HROT [R] : f6E 914 & a1 1 399 9 e 4§ feAie & ofa=we & B
#T : ]
(A) [A] T [R] AT G & AR [R], [A] # G @rEA B
(B) [A] @ [R] a9 O B, QAfhT [R], [A] & T& =ren &t 2
(C) [A] & B, @ [R] Td I

(D) [A] TQ &, QAfeT [R] T B
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Assertion [A] : When NaCl is added to water, a depression in freezing point is

observed.

Reason [R] : The lowering of vapour pressure of a solution causes depression

in the freezing point.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

18. IRMHYA [A] : MXe T MXsL §F S8 X T L ThEQR forrs &, svde aH@gaar et
ERURT

HROT [R] : ST THETE 39 AMD § el qQar S e Sudedde™ & 6 gl
#T : ]
(A) [A] @ [R] a1 @ § X [R], [A] & @& e B

(B) [A] @ [R] a1 O B, QAfhT [R], [A] & T& =ren w8t 2

(C) [A] & B, S [R] T &I

(D) [A] TG &, QAfeT [R] T B
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Assertion [A] : Complexes of MXs and MXsL type [X and L are unidentate] do

not show geometrical isomerism.

Reason [R] : Geometrical isomerism is not shown by the complexes of

coordination number 6.
Code :
(A) Both [A] and [R] are true and [R] is the correct explanation of [A].
(B) Both [A] and [R] are true, but [R] is not the correct explanation of [A].
(C) [A] is true, but [R] is false.

(D) [A] is false, but [R] is true.

s - g
SECTION - B

[ SAfeeTg SAEF 99 |

[ Very Short Answer Type Questions ]

19. =i Benor AR & ol d HF-|1 RS SN2 Af¥fshan diaar & am ? 2
CHj
()  CHsCH,CH-CH; Ol CHj- % - Br
Br CH3
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(i) CH,-CH -CH, -CH,Br &l CH,—CH, - CH-CH,Br
| |
CH, CH,
Which alkyl halide from the following pair would you expect to react more

rapidly by SN 2 mechanism ?

CHj;
|
(i) CHiCH, CH~CHj or CHy—C - Br
Br CH3

(i) CHj; - C|3H -CH, -CH,Br or CH;-CH, - ICH -CH, Br
CH, CH,

20. WEN & FE T fagiiBeer & 1 T9E Bl § 7 2

What is the effect of denaturation on the structure of proteins ?

21. R — P ik & forw ofere & @igdr 0.03 M @ 25 fiFe § gRafdd 2t 0.02 M &
St 31 SfEd A oM fiee gaE B it 2

For the reaction R — P the concentration of a reactant changes from 0.03 M to
0.02 M in 25 minutes. Calculate the average rate of reaction using units of time

in minutes.
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SO,Cl, % U URFE A= & et A= # AR 89 # 60 e &1 @ @ o A
AR 9o IS &l B, o1 3T ReRieh i T i) 2

Time required to decompose SO,Cl, to half of its initial amount is 60 minutes. If
the decomposition is a first order reaction, then calculate the rate constant of

the reaction.

22. = gl % [UPAC M fdf@T : 2

(i) Kz[Fe(Cy04)3]

Write the IUPAC name of the following coordination compounds :
(i) [Co(NHj3)5CO3]Cl

(i) Kg[Fe(Cy04)3]

23. 1 B B, 9 ¢ 2
(2) g 3R H IURAT H AR s i AR difsaw & Bt § 7

(b) TR FANES H AR Tiig KOH § &t 8 7

1230/(Set : D) P.T.O.
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What happens, when :

(@) Methyl bromide is treated with sodium in the presence of dry ether ?

(b) Ethyl chloride is treated with aqueous KOH ?

24. THEEC % 9= a09 § 31 OH T 34 Soderhl URae & Sfd & @b &
g7 2

Explain how does OH group attached to a carbon of benzene ring activate it

towards electrophillic substitution reaction.

e
OR
i sAftisharetl | U1 SedrEl 1 STgHA sy 2
OCyHs
(i) + HBr —

(11) (CHs)SC_OCQHS +HI—

Estimate the products obtained from the following reactions :

OC2Hs
(i) + HBr —

(11) (CHs)SC_OCQHS +HI—

1230/(Set : D)



25.

26.

27.

(21) 1230/(Set : D)
=1 e § A @ B &1 GX=eT i 2

NaNOo + HCl

Fe /| HCI
CeHsNO, —F¢/ A —

Give the structure of A and B in the following reaction :

Fe [ HCI A NaNO9 +HCI

CeHsNO, 73K

gE - g
SECTION - C
[ @Y S909 97 |

[ Short Answer Type Questions ]

HiEd e & A YS9 Jgd STUHed Tl §a Jgd T9Hed H A Ahdl § @l gRac|
AT B ? o § ST 3

Explain the variation of molar conductivity of a strong electrolyte and weak

electrolyte with concentration through graph.

fheed & foures oot @1 B ? SUHEHde™ o § d* Sl 1 ardiad O A, & 99 @
YR W %y g e sar & ? 3

What is crystal field splitting energy ? How does the magnitude of A, decide the

actual configuration of d orbital in a coordination entity having d* configuration.

1230/(Set : D) P.T.O.
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e

OR
i Y Eid & AR W =T Suasddis aar | €Y &l Ghia i fad=mT
FINTT 3
() [Fe(CN)g]*
(ii) [CoFs]*"

Discuss the nature of bonding in the following coordination entities on the basis

of Valence Bond Theory :
()  [Fe(CN)s]*

(ii) [CoFg]>~

28. fr=foiead aRadH! ® e SR S a@har & ? 3
(i) SUF-2-3{fd q JuE-2-371
(i) T q Sl
(i) WIF § S
Convert :
() Propan-2-ol into Propan-2-one
(i) Phenol into Benzoquinone

(iii) Phenol into Benzene

1230/(Set : D)
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29. (i) UG % Pkb ARUAN & g 7 I T Bl © ? 1
(i) ST FAREE B 2-BNACSHN § qRakid S 1
(iii) Srafes AT #1 FEREiE gares QA o St Y B § 7 1

(i) Pkb of aniline is more than that of methylamine, why ?
(ii) Convert Benzyl chloride into 2-phenylethanamine.

(ii) Why do primary amines have higher boiling point than tertiary amines ?

YqT
OR

(i) S UAEE & IUPAC W [RIT S SEHM NEAES oifhar &1 WuaEe &t &t 1

(ii) frfaRad @ &g T9@ & Sed %9 | IRy : 1
C¢HsNH,, NHy, CoHsNH,, (CoHs), NH
(it) U TG SFugE § fawe % WU g TaEE qaeeT i) 1

(i) Write the IUPAC name of the amide that gives propanamine by Hoffmann's

bromamide reaction.

(ii) Arrange the following in the increasing order of basic strength :

C¢HsNH,, NH;, CoHsNH,, (CoHs)o NH
(iii) Give one chemical test to distinguish between aniline and benzylamine.

1230/(Set : D) P.T.O.
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30. axMizy % yem Hife & AR & 99% kAT Qo 89 § & I 90% FARMRAT Qo BN
¥ T a g9 9 G e ol 3

For the first order reaction show that the time required for 99% completion of

first order reaction is twice the time required for the completion of 90%.

que - §
SECTION-D

[ 9 I THR B 997 |

[ Case Study Type Questions ]

fr=ifaréa &6l (31 q 32) & &FYEH TEATT F T IFE A RY T JoAT (i-iii) F TV
&

Study the following cases (31 & 32) carefully and answer the questions (i-iii) that
follow :

31. ANYDEE a1 FEERESC & PFH AR AR T ARd ¥ o ergafeq T2 fFar s g
SEETT & AR W qhE, FeN, (A Akl Siiie]ss af HEeEge & Nd o
AT § AHUES B A ¥ IW T IHEA A Bl &1 S - G, AR, e
| dferiiNgs ST oTuges WX TEfe e ¥ AMORAEe TRl 34 & Re SEei
®rH agend &l

1230/(Set : D)
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97
(i) S TEY FH FA AW T, A & ANYBAZS SHEA B edr 8 7 1
(i) BTG SHEBUIS dHad gl § AT A &, Weg b F TE ? 1
(iii) o-D *HE Hl EEY HEAE gAY 2
ST
TAEHS F1 & 7 g8 ' § 6 g R B 7 2

Monosaccharides are simple carbohydrates that can't be broken further into

smaller units on hydrolysis. For example Glucose, Fructose Ribose etc. Oligo-

saccharides are the carbohydrates which on hydrolysis give two to ten units of
monosaccharides eg. Sucrose, Maltose, Lactose etc. Polysaccharides produce

large number of monosaccharides units on hydrolysis eg. starch cellulose.
Questions :

(i) Name the linkage that holds the two units in the disaccharide.

(i) Which disaccharide is found only in animals, not in plants ?

(ii) Draw Haworth projection of a-D Glucose.
OR
What is Glycogen ? How it is different from Starch ?

1230/(Set : D) P.T.O.
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32. AU Fieell & WM § FH GiEdl A Ol § 99 HiEdl a9 o9id § s # Jae

T facmee | fomae | foae & Jare S QR Bl Sl ol UNElel & WA & A &

8 THR & R § Th oF oS d9x THE b &l oS & el SR & A arl {3l

HIIET Il 31 FOR a8 STRReT & O HCL ¥ S/sT AT S 81 el HBI TaxeT

P TRA F a6 T S B IE o § T TR IS H TH i Wl A @ A o1 FB

Y ULET S ST B S H @M A & 96 e Sl & q°1 THE A G H @ ga e

G B ST 81 WER ® A & U e R AR & T S & e aERe

W FBd & A ET AW G AF a9 A A, Q@ G WERe S 9 g% @
STt &1

337 :

() IR A SRR B B 0.9% (FFHE/TTH) T eTH TGS o & W@ &, o
HIIBT I T BT 7 1

(i) =T foort & @ fopeen WRERET a9 ST B 1M QeREW FNES oFar 1M IRar ? 1

(iii) S IUERET 1 T ? U SAY-UTY R B AW qasC S 39 gigedr § yanr §
e S 2 2

YqT

T T Oy g e @ Ao} seme 39 | R 9 § 7 2

1230/(Set : D)



(27) 1230/(Set : D)
The spontaneous flow of the solvent through a semipermeable membrane from a
pure solvent to a solution or from a dilute solution to a concentrated solution is
called as osmosis. The phenomenon of osmosis can be demonstrated by taking
two eggs of the same size. In an egg the membrane below the shell and around
the egg material is semipermeable. The outer hard shell can be removed by
putting the egg in dilute hydrochloric acid. After removing the hard shell, one
egg is placed in distilled water and the other in a saturated salt solution. After
some time, the egg placed in distilled water swells up while the egg placed in salt
solution shrinks. The external pressure applied to stop the osmosis is termed as
osmotic pressure. Reverse osmosis takes place when the applied external

pressure becomes larger than the osmotic pressure.

Questions :

(i) What happens when RBC's are placed in 0.9% NaCl solution ?

(i) Which one of the following has higher osmotic pressure : 1M KCl or 1 M

Urea ?

(ii) What is Reverse Osmosis ? Name one SPM which can be used in this

reverse osmosis.
OR

How the molecular mass of substance can be determined by the method

based on measurement of osmotic pressure ?

1230/(Set : D) P.T.O.



33.

(@)

(i)

(iii)

@)

(i)

(i)

@)

(28) 1230/(Set : D)
goE - g
SECTION - E
[ € ST 999 ]

[ Long Answer Type Questions ]

ITRAT NI WHMe, SifRifcs ofd @ ik 39 &ear ® ? 39 e & fou
a™E T gy 1

HW & W E° (M2 | M) F1 99 €996 (0.34 V) &, 56 G9ifad ®RoT & ¢ 1

frefafad & e § oFdegs ©d Ufdeigs & TR &l QAT Sodeitie (O,
STTFRAHIT STEeT JT YRHUEIG U STEF STHR § HY| 3

How does acidified permanganate solution react with oxalic acid ? Write

ionic equation for this reaction.
Why E°(M2+ | M) value of copper is the positive value (0.34 V) ?

Compare Lanthanoids and Actinoids with special reference to electronic

configuration, oxidation state and atomic and ionic size.

YqT

OR

HHAOT 1SN &l FOF A b AF I= FI 8 § 7 1
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(i) EBAYT OTg B IoaaH SHfFAHT ST SfEel ¥ FERid & el & 7 1

(ili) HHEE W6 § K,Cr0O, ® MM & MU [ & &1 Sw@ i 3
(i) Why transition elements have the high enthalpy of atomization ?
(i) Why highest oxidation state is exhibited in oxoanions of a metal ?

(iii) Indicate the steps in the preparation of K,Cr,O; from the chromite ore.

34. (i) = AFFT & IR H GE AT ¢ 1

H 2+
CH,-C=CH—9
HpSO4

(ii) CTEFAENNAE SR & G SR 1

(i) @ipEoTEs § A NH, TE 84 8, W] $9d Wh NH, Te & Quidmee faeed §
g B 8, TE b ? 1

(iv) frfafad it & HON & St affrsiicar & Sed w9 § Zafed Hiv 1

YEiefeess, AN, TrgdEs-Sfea #ieN
(v) U@ GO WX U gt fewel ford 1
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(i) Write the structure of product of the following reaction :

(ii) Draw the structure of : Cyclo-propanone Oxime.
(iii) There are two NH, groups in Semicarbazide, but only one is involved in
semicarbazone formation, why ?

(iv) Arrange the following compounds in the increasing order of reactivity

towards HCN :

Acetaldehyde, Acetone, Ditertbutyl Ketone.

(v) Write a short note on 'Aldol Condensation'.

STeE

OR

T FEME AN SEH TET CoHiO B, 2, 4-DNP @ &[T 51 Sfa SAHHE B
AR HA B T DGR ANEENT I B TS SFIET W g8 1, 2-dwid
SE-HAlIce TR ST &1 AR H GEAT FHH [UPAC T fofeqr sififsean & oy
B areil g9l e FHenen B 5
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An organic compound with molecular formula CqH;,O forms 2, 4-DNP. Derivative
reduces Tollen's reagent and wundergoes Cannizaro reaction. On vigorous
oxidation, it gives 1, 2 benzene dicarboxylic acid. Identify the organic compound.

Write its IUPAC name. Write all chemical equations involved in reaction.

35. (i) fr=ifciad iffhar a@ Y a9 &1 AW% 9 [awa uiteiad s situier & g
A,G° & TOFET A HINT 3
2Cr(s)+ 3Cd?** (ag) = 2Cr3*(ag)+ 3Cd(s)
E¢ 3+, =—0.74V
Eg

42+ g = ~0-40V

(i) FIATS H T F1E ? ZH IR IHK W FY 2

(i) Calculate the standard cell potential of galvanic cell in which the following

reaction takes place. Also calculate the value of A,G° of the reaction :
2Cr(s)+ 3Cd?* (ag) — 2Cr3* (ag)+ 3Cd(s)
ECr3+|Cr =-0.74V

Eo

Ca2+|cq= —0-40V

(ii)) Define Kohlrausch's law by taking suitable example.
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(i) Ffofed ad & 298 K W A& FHIBT iy T emf sd Hifo - 3

Mg (s) |[Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)
E];[92+|Mg =-2.37V

ECu2+|Cu =0.34V

(i) Rl focre &1 S agq & A & gl § 7 2

(i) Write the Nernst equation and calculate the emf of the following cell at

298 K :

Mg (s) [Mg?*(0.001M || Cu?*(0.0001M)| Cu(s)
E];[92+|Mg =-2.37V

El 2+ ¢, = 0.34V

(i) Why does the conductivity of a solution decreases with dilution.
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